SRR 214F FE 1) B BR B AR A SR I KA

V=DI=! N=Ni:d N iy 2.

PN s ek G Bl lson | someEnn |we N ol el B U e i

devfEiE it@a_ RETRLEIE v [[6] =hmAZY 1 | B9ss [FERk21410 H 28 H | 10:00 (K5 12.6 39| NE 1.2 0.141
— (FLME ) % T [ER214210 A 29 H | 10:00|= 14.0 67 S 0.5

2 | Bag | k214510 H 29 H | 10:10|= 14.8 62| SW 2.1 0.141
T [ER214210 A 30 H | 10:10|HE 13.0 57 N 25

3 | BaG | k214510 H 30 H | 10:15(H5 13.0 56 N 3.0 0.141
T | FER214E10 A 31 H | 10:15|0F 6.8 45 calm -

LR |FLER TR AEMFZEAT CRLBR  |[7] 4-ER a2 BEBAT 1 | B [FERk21FE10H 13 H | 9:27|Hs 16.2 46 sw 5.3 0.71
) v T [ER214E10H 140 | 9:27|0F 14.1 39 NWwW 6.3

2 | Basg | FRk214E10H 14 H | 9:32|HG 14.1 39 NwW 6.3 0.71
T [ER214E10 A 150 | 9:32|0F 16.0 52 NE 1.6

3 | Bag | k214510 H 15 H | 10:04|H5 16.0 52| NE 1.6 0.72
T |FER214E10 A 16 H | 10:04|HF 15.8 55| ESE 39

HOR [RIRRE I WRER Y [[BIm-=taT = 1 | BA4s [PERR214E10H 28 B | 10:00]i 19.4 70| ESE 1.8 0.294
& — (L) % T [ER214210 A 29 H | 10:00|HF 20.4 76 W 1.1

2 | Bag | k214510 H 29 H | 10:00|H5 20.4 76| W 11 0.292
& T [FER214210 A 30 H | 10:00|HE 215 76| SW 1.1

3 | BaG | k214510 H 30 H | 10:00(H5 21.5 76| SW 11 0.292
T |FER214210 A 31 H | 10:00|HF 18.9 80 NE 5.9

B E IR iTI,Lr REERZEREE > |[B]m-=te7 = 1 | pans [FPEk214511 A 17 | 10:00{/ 8.5 87| NNW 15 2.83
— (nZgm) % T [ER214211 A 18 H | 10:00|HF 12.5 64| NW 2.4

2 | Bag | FRk214E11 H 18 H | 10:22|H5 125 64| NW 24 2.83
T [ER214E11A 190 | 10:22]|= 7.2 60 NW 2.2

3 | BaG | k214511 H19H | 10:36|= 7.2 60 NW 2.2 2.83
T | ERi215E11H 200 | 10:36|0G 10.2 55 N 0.8

[6] =hmA%> 1 | Bang [FPEk214E11 A 17 | 10:00{/ 8.5 87| NNW 15 0.142
T |YER214£11H 181 | 10:00 (WG 12,5 64| NW 2.4

2 | Bag | k214511 H 18 H | 10:22|H5 125 64| NW 24 0.141
T [ER214E1LA 191 | 10:22]|= 7.2 60 NW 2.2

3 | Bag | k214511 H19H | 10:36|= 7.2 60 NW 2.2 0.142
T | ERi215E11H 200 | 10:36|0 10.2 55 N 0.8

TR (TR —ERE RRHEE [[6] =heAZ 1 | B [FERk214E10H26 H | 9:00([y 14.8 99 N 31 0.142
JA (R YT |ER214E10H 27 H | 8:50| P 21.2 71 W 6.2

2 | Bag |PERk214E10H 27 H | 9:00| P 21.3 73 W 6.2 0.143
T |PERi214£10H 28 H | 8:50(0 16.9 74| ENE 0.9

3 | Bag | k214510 H 28 H | 9:00(HG 17.3 73| ENE 0.9 0.143
T | ER214E10 H29H | 8:50|= 14.7 91| NNW 1.3

N [ SN RBREBI R 2t o 7 — [[7] 4-eR e Z B EFHBAT 1 | pans [FEEk214E12 8 H | 10:00(H/E 10.0 40| NE 2.5 0.682
CF& ) 2 % ['ERk214E12A9H | 10:00[2 10.9 55| NNE 12

2 | Bag | k214512 H9H | 10:10|= 10.9 55/ NNE 1.2 0.797
T |PER214£12 100 | 10:10(0G 12.6 56| ENE 3.4

3 | Bag | k214512 H 10H | 10:20|H5 12.6 56| ENE 34 0.791
T |ER214£12 11 H | 10:20|/F 7.7 90| NNE 1.3




SRR 214 W BR B o A SRR U KA
L= yE JE N =y B
PN W A ST Bl | mmsan | x ol el B U e i
ERE |ERFREREASUIZHT (& |[6] =hnAX 1 | Ba4s [FER%214510 A 27 0 | 10:00(iF 14.6 86] ENE 2.6 0.142
B 117) T |PERk214210H 28 H | 10:00| g 12.4 81| ENE 2.4
2 | BA4s |FERC214E10 H 28 B | 10:20]khif 12.4 81| ENE 2.4 0.142
T | ERi214£10H 29 H | 10:20 (0 1.1 87| SE 1.2
3 | BaG | k214510 H 29 H | 10:40(H5 1.1 87| SE 1.2 0.142
T | ERi214£10H 30 H | 10:40(0G 14.6 75|  SSW 26
Mgt E3. IR, MEM%%F‘“FEB% AT (% |[B] m-=kr7 =V 1 | BE#g | FRk214-10H 27 H | 10:00|K 215 41 W 45 2.84
B JTT) w1 [Frk21%10 A28 1 | 10:00(1% 18.3 sl w 0.2
2 | Bag | k214510 H 28 H | 10:10|H5 19.4 51 W 0.2 2.84
T |ERi214£10H 29 H | 10:10(0G 20.6 51 W 0.2
3 | Bag | FRk214510H 29 H | 10:15(H5 20.5 49 W 0.2 2.84
T | FRi214£10H 30 H | 10:15(05 20.5 57 W 1.2
&R | TREFEMAR (A HE |[7]4eRed o2 BFBAT 1 | BAtg | FRk214-11 H 24 A | 11:06| % — K¢k 12.0 76] NNE 17 0.630
) v @7 SER214E11 A 25 1 | 10:18|F0 i 13.8 63| WNW 31
2 | B9kg |PERk214E11H 25 F | 10:23 | — s 13.8 63| WNW 31 0.667
T |FERi214E11H 26 H | 10:25(0G 13.7 60 NW 1.9
3 | BA4G |PERC214E11H 26 B | 10:26| kAt 13.7 60| NW 1.9 0.701
T | ER21IAE1LA 27 H | 10:13 | %= 14.3 63| NNW 1.7
ZHER | ZEBAREERESET (WU |5l m-=trT7 =V 1 | BHsg |FR21412 H 2H 9:57|i% 12.6 58 N 11 1.35
Him) T [ER214E12 A 3H 9:49|= 12.9 61| wsw 0.7
2 | BAss |FERC214E12H3H | 10:30(2 12.1 67| SE 0.6 1.28
T 2151248 | 10:36(0 13.6 49 NNW 5.7
3 | BHG |PRK214E12H 4R | 10:46|HE 14.4 48| NNW 5.7 129
T | ERi21512 50 | 10:56 |0 1.1 84| WSW 0.7
ERT | AT AT CRHERT) [6] =hmAZ 1 | Ba4s [FER214511 A 100 | 10:04|2 19.3 62| ENE 1.1 0.146
T [ER214E11A 113 | 10:04|F 17.9 85 SwW 0.9
2 | Basg | FRk214F11H 11 H | 10:35|/ 18.2 791 NW 15 0.142
T |PER215E11H 12 0 | 10:23 |0 15.6 50/ NNE 3.0
3 | Bag | k21411 H 12 H | 10:33|HG 15.6 49| NNE 4.8 0.146
T | ERi214£11 13 H | 10:33|/ 14.7 67| ENE 1.8
KEAF | KBRFBRBE 2R K EERR A A |[7] 4-E R s 42 BB R AT 1 | psg [PEER214E11H 240 | 10:00(% 9.9 75 N 13 0.780
FEpT (RBR) v w1 [Frk21/E11 A 251 | 10:00(1% 15.6 78] calm :
2 | Bag | k214511 H 25 H | 10:20|H5 16.4 73| calm - 0.780
% T [ER214E11 A 26 H | 10:20|05 15.3 57| SE 04
3 | Bag | k214511 H 26 H | 10:35|H5 15.9 55| calm - 0.780
T [ FER214E11 A 27 H | 10:35|0F 15.0 60| calm -
R | RERRENEE X —  |[6] =haAZy 1 | BA%G [FRk214E11H 16 H | 10:10(/& 13.1 52 N 2.2 0.141
(F ) T | ER214E11 A 17 H | 10:10(/E 9.1 86| calm -
2 | Bag | k21411 H 17 H | 10:25|/ 8.9 87 N 0.6 0.142
T [ER214E11 A 18 H | 10:25|HF 11.6 57 S 1.2
3 | Bag | k214511 H 18 H | 10:50|HG 114 58 S 1.2 0.141
T [ FER214E11 A 19H | 10:50| = 11.3 69 S 0.8




SRR 214 W BR B o A SRR U KA
Y—==} N=ica N =t =
PN A WA S Bl | mmsan | Kb P ol T j‘ﬂ(iiff‘i
Fapk L R %ujkm/Lr REiM e v [[S]lm-=Fr T =) 1 | g [PERR214E11H 18 | 10:13]& 11.1 58 N 5.6 1.48
— (FraEk L) % T [ER214E11 A 190 | 10:13|0F 2.9 80 E 25
2 | Basg | k214511 H 19 H | 10:25|H5 2.9 80 E 25 1.50
T [ER214E11 A 20 H | 10:25|0E 12.7 67| NNE 2.1
3 | BHkA |PRK214E11H 26 H | 10:00|H 14.4 76| ENE 2.5 146
T |ER214E11 A 27 H | 10:00|HF 14.8 78 E 1.4
o 0 BREssiftr v % —  [[5lm-=ta7r=Ur 1 | s [FPEk214E11 A 9F | 10:01(/ 18.6 86| ENE 1.0 1.48
(L AT) % T [ER214E11A 100 | 10:01|= 18.8 78] NE 11
2 | BA4s |"ERC214E11H 10H | 10:10(% 18.8 78| NE 11 1.45
% T [ER214E11 A 113 | 10:10(/ 17.3 75 NE 35
3 | Basg | k21411 H 11 H | 10:22|[W 17.3 75| NE 35 1.52
T | ER21IAE1LA 12 H | 10:22| P 16.3 48]  NE 4.0
wER R RAEESEE 4 —  [[71] 4R R EERAT 1 | Bagg [FERE214E11H 16 H | 11:00[% 13.0 52  Nw 3.8 0.749
(FE &) v w1 [Frk2tE1A17a | 11:00(/F 7.8 86| WNW 43
2 | Basg | FRk214E11H 17 H | 11:02|[FE 7.8 86| WNW 43 0.751
T |FER215E11H 181 | 11:02 |0 12.0 39| WNW 7.3
3 | BaG | k21411 H 18 H | 11:42|H5 12.0 39| WNW 7.3 0.747
T | ER214E11A 190 | 11:30]= 12.1 59 WNW 43
FINE [BNRERERTE (&R [[5Bm-=ta7r=Ur 1 | BEtg | FFRk214E11H 25 0 | 11:21 |25 & 18.1 79 wsw 2.2 1.45
) T [ER1IAE1LA 26 H | 11:21 | PEE 21.0 56| WNW 11
2 | Bag |PERk214E11H 26 F | 11:23| P 21.0 56| WNW 11 1.46
T SERG2IAELLH 27 H | 11:23|E — = 16.0 73] NNW 3.1
3 | BHAL | ER21IAE11H 27 B | 11:25|0 —Fi= 16.0 73] NNW 31 1.48
T |ER214E11 A 28 H | 11:25|= 15.0 69| NNE 2.0
B |RPmETES CREET)  ([6] =hrAz 1 | Bdgs [FERE214E12H 1A | 10:10[K% 1.1 79 Nw 0.8 0.141
T |ER214E12 A2H | 10:10(0E 12.9 62| NW 0.6
2 | Bag | k21412 H2H | 10:20|H5 12.9 62| NW 0.7 0.142
% T [ER214E12 A3H | 10:20|= 13.8 64 N 0.7
3 | Bag | FRk214512H3H | 10:30|= 13.8 64 W 1.9 0.141
T |ER214E12 A 4H | 10:30|0F 13.9 55 NNW 0.9
[7] 4-ER oL %2 B ERE AT 1 | pang [PEEk214E12 18 | 10:10(/E 11.1 791 NW 0.8 0.708
v T |ER214E12 A2H | 10:10|0E 12.9 62| NW 0.6
2 | Bag | k21412 H2H | 10:20|HG 12.9 62| NW 0.7 0.708
T [ER214E12 A3H | 10:20|= 13.8 64 N 0.7
3 | BA4s |FER214E12H3H | 10:30(% 13.8 64 W 1.9 0.708
T |ERi215E12H 40 | 10:30(0G 13.9 55 NNW 0.9
e AL TN BLAE (BT ) [[s]m-=Fe 7 =Y 1 | BAkk [FER214£10 1200 | 9:35(iF 19.2 51| NNW 5.8 1.44
T |ERi215E10H 210 | 9:35(|0G 20.9 57 S 1.8
2 | Bag | k214510 H 21 H | 10:00(H5 20.9 57 S 18 1.43
T |FER214£10 H 22 H | 10:00 |0 23.0 52| SSE 2.2
3 | Bag | k214510 H 22 H | 10:05|H5 23.0 52|  SSE 2.2 1.43
T |*ERi214£10 H 23 H | 10:05|0 22.0 49| ESE 1.8




SRR 214 W BR B o A SRR U KA
== YE HE ~ =t =
PN A AR BT Bl | mmsan | K - ‘”(E%/% ) (kan% jm(;gfyi
R (EERSREEE ¥ — (BB |[flm-=taT7 =0 1 | BHLE [ERK224E3H9H 13:04|= 8.5 72 S 31 1.42
i7) w1 [Erk22fE3 A 100 | 13:04]i 55 82| NNW 0.4
2 | Bs | P23 100 | 13:066 55 82| NNW 0.4 1.42
w1 [Trk22E3 1R | 13:06|0E 129 43w 0.4
3| pks [Trk22aE3 1R | 13:00| 1 132 44w 0.4 1.42
w1 | Trk22kE3 120 | 140008 1538 34| NNE 18




